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PART - A

Spetting Errors
Directions :

In this Section, a number of sentences are given. The sentences are underlined in three separate
parts and each one is labelled (a), (b), (c). Read each sentence to find cut whether there is an
error in any underlined part. No sentence has more than one error. When you find an error in any
one of the underlined parts (a), (b) or (c), indicate your response on the Answer Sheet at the
appropriate space. You may feel that there is no error in a sentence. In that case letter ‘(d)” will
signify a “No error’ response.

1. Unless you stop to make noise at once, I will have no optioh but to
(a) (b)
bring the matter to the attention of the police. No error.
(c) (d)
2. Hecouldn’tbuthelp shed tears at the plight of the villagers
(a) (b)
rendered homeless .by a devastating cyclone. No error.
{c) (d)
3. Since it was his first election campaign, the candidate was confused;
(a)
none could clearly understand  either the principles he stood for or the benefits he promised.

(b) (c)

No error.
(d)
4. Itis an established fact that the transcendental American poets and philosophers,
(a)
who lived in the latter half of the nineteenth century,
(b) . v
were more influenced by Indian plﬁlosophy, in particular by Upanishadic Philosophy. |
(c)

No error.
(d)
5. No sooner did [ open the door  when the rain, heavy and stormy, rushed in
(a) (b)
making us shmver from head to foot. No error.

(©) (d)

B-PFCA-O-JCV - A 2
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6. After opening the door we entered into the room  next to the kitchen. No error.

(a) (b) )y (d)

7. When the dentist came in  my tooth was stopped aching
(a) (b)
out of fear that I might lose my tooth. No error.

(c) (d)

8. Emphasis on equality of life ensures  for the health and happiness  of every individual.

(a) (b) ()

No error.

; (d)

9. The students were awaiting for the arrival of the chief guest. No error.

(a) (b) (c) (d)

10. You will come to my party tomorrow, isn’tit? No eror.

(a) | (b) () (d)

11. Having read a number of stories  about space travel
(a) (b)
his dream now is about to visit the moon. No efror.

(c) (d)

12. The meeting adjourned abruptly by the Chairman after  about three hours of deliberation.

(a) (b) (c)

No error.

(d)

13. Not one of the hundreds of striking workers  were allowed to go near the factory.

(@) (b} (c)

No error.

(d)

14, Iflhad known this earlier I will have helped him. No error.
(a) (b) (c) (d)

15. Mr. Smith was accused for murder but the court found him not guilty and acquitted him.

(a) (b) (c)

No error.

(d)

3 A - B-PFCA-0-JCV




www.prepp.in

prepp

Your Personal Exams Guide

Sentence Improvement

Directions :

Look at the underiined part of each sentence. Below each sentence arc given three possible
substitutions for the underlined part. If one of them, (2), (b) or (¢), is better than the underlined
part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) or (c).
If none of the substitutions improve the sentence, indicate (d) as your response on the Answer
Sheet. Thus a ‘No improvement’ response will be signified by the letter (d).

16. Although India is still by far a poor country,
1t can become rich if its natural and human
resources are fully utilised.

(a) few and far between
(b) by and large
(c) by and by

(d) No improvement

17. The more they earn, more they spend.

(a) More they earn, more they spend
(b) More they eam, the more they spend

(c) The more they earn, the more théy
spend

(d} No improvement

18. But in all these cases conversion from one
scale to another is easy because scales
have well-formulated.

(a) can be weil-formulated
(b) are well-formulated
(c) well-formulated

(d) No improvement

19. Five years ago on this date, I am sitting in
a small Japanese car, driving across Poland
towards Berlin.

(a) was sitting
(b) sat
(c) have been sitting

(d) No improvement

B-PFCA-O-JCVY - A

20.

21,

22.

23.

The old man felled some trees in the
garden with hardly no effort at all.

(a) hard effort
(b) hardly any effort ’
{c) a hardly any effort

{d) No mmprovement

She says she’s already paid me back, but
I can’t remember, so I’il have to take her
word.

(a) to take her word true
(b) to take her at her word
(c) to take her word for it

(d) No improvement

The workers are hell bent at getting what
is due to them.

(a) hell bent on getting
(b} hell bent for getting
(¢} hell bent to getting v

(d) No improvement

You are wamned against committing the
same mistake again.

(a) tocommit
(b) for committing
{c) against to commit

(d) No improvement
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24.

25.

26.

27.

While we would like that all Indian children
to go to school, we need to ponder why
they do not. _ :

(a} that all the Indian children
(b) if all the children of India
{c) all Indian children

(d) No improvement

Due to these reasons we are all in favour
of universal compulsory education.

(a) Out of these reasons
(b} For these reasons
(c) By these reasons

(d) No improvement

When it was feared that the serfs might go
too far and gain their freedom from
serfdom, the Protestant leaders joined the
princes at crushing them.

(a) 1nto crushing
(b} in crushing
(c) without crushing

(d) No improvement

In India, today many of our intellectuals
still talk in terms of the French revolution
and the Rights of Man, not appreciating
that much has happened since then.

28.

29.

30.

(a) much has been happening .
(b) much had happened
(c) much might happen

(d) No improvement

Taxpayers are to be conscious of thetr
privileges.

(a) haveto
(b) need
(c) oughtto

(d) No improvement

I would have waited for you at the station
if I knew that you would come.

(a) had known
(b) was knowing
(¢} have known

(d) No improvement

No one could explain how a calm and
balanced person like him could penetrate
such a mindless act on his friends.

(a) perpetuate
(b) perpetrate
(c) precipitate

(d) No improvement

A — B-PFCA-O-JCV
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Ordering of Sentences

Directions :

In items in this section, each passage consists of six sentences. The first and the sixth sentences
are given in the beginning as S1 and S6. The middle four sentences in each have been removed
and jumbled up. These are labelled B, Q, R and S. You are required to find out the proper order
for the four sentences and mark accordingly on the Answer Sheet.

31..S1: At the roadside the driver will be
asked to blow through a small glass
tube into a plastic bag.

S6: The driver will be asked to go to the
police station.

P : And if the colour change does not
reach the line the driver cannot be
punished under the new law.

Q : Inside the tube are chemically treated
crystals which change colour if the
driver has alcohol on his breath.

R : But if the colour change does reach
the line then the test has proved
positive.

S @ If the colour change goes beyond a
certain line marked on the tube this
indicates that the driver is probably
over the specified limit,

The proper sequence should be

(a) PSQR

(b) SQRP

(cy RPSQ

(dd QSPR

32, Sl: Hope springs eternally in the heart of
man.

$6: This is the central idea of the poem.

P : But hope is everlasting.

Q : Love, friendship and youth perish.

B-PFCA-0-JCV - A 6

33.

R : It is nursed by the glorious elements
of nature.

S : Man derives hope from nature in his
gallant struggle after some noble
ideal.

The proper sequence should be
(a) QPRS
(b) SRQP
(c) RSQP
(d QPSR

Sl: Mr Sherlock Holmes and Doctor
Watson were spending a weekend in
a Umversity town.

56: It was clear that something very
unusual happened.

P . One evening they received a visit
from an acquaintance, Mr Hilton
Soamnes. :

Q ¢ On that occasion he was in a state of
great agitation.

R : They were staying in fumished
rooms, close to the library.

S : Mr Soames was a tall, thin man of a
nervous and excitable nature.

The proper sequence should be
(a) PRSQ
® RPSQ
(¢) PQRS
(d RPQS
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34,

St: The machines that drive modemn
civilisation derive their power from
coal and oil.

S6: Nuclear energy may also be
effectively used in this respect.

P : But they are not inexhaustible.

Q : These sources may not be exhausted
Very sooil.

R : A time may come when some other
sources have to be tapped and
utilised.

S : Power may, of course, be obtained in
future from forests, water, wind and
withered vegetables.

The proper sequence should be

(@ PQRS

k) QPRS

{(c) SRQP

(d SPQR

S1: The body can never stop.
S6: It comes from food.

P : To support this endless activity, the
body needs all the fuel for action.

Q : Sometimes it is more active than at
other times, but 1t is always moving.

R : Even in the deepest sleep we must
breathe.

S : The fuel must come from some-
where.

36.

The proper sequence should be
(a) PQRS
(b) PRQS
(c) QRPS

d SRQP

St: American idealism is essentially a
belief in the idea of progress.

S6: This sense they have inherited from
the English.

P : Therefore, he believes that, because
of human eftort, the future will be
better than the past.

Q: But if Americans are usually
optimistic, they are not wholly
unrealistic.

R : The American tends to view history
as a record of human achievement.

S : They have some common sense
practicality.

The proper sequence should be
(@ PQRS
) PQSR
(c) RPQS
(d PRQS

A - B-PFCA-O-JCV
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Selecting Words

Directions ;

In the following passage at certain points you are given a choice of three words marked (a), (b)
and (c), one of which fits the meaning of the passage. Choose the best word out of the three.

Mark the letter, viz., (a), (b) or (c), relating to this word on your Answer Sheet. Examples K and
L have been solved for you.

K L

The (a) boy wasintheschoolin Simla. (a) She was home sick.
(b) horse b) It
(c) dog {(c) He

Explanation : Out of the list given in item K, only ‘boy” is the correct answer because usualily, a
boy, and not a horse or a dog, attends school. So “(a)’ is to be marked on the Answer Sheet for
item K. A boy is usually referred to as ‘he’, so for item L, ‘(c)’ is the correct answer. Notice
that to solve the first item K you have to read the rest of the sentence and then see what fits
best.

Passage

After having slept for an hour, Bond decided to go out into the city and try to find his contact.
After changing his suit, he carefully locked his room and stepped out of the hotel. No one was

37.
around. But he had walked only for a few minutes when it suddenly (a) felt to him

(b) occurred
(c} happened

38. 39,
that he was being (a) followed by someone. There was reallyno  (a) reason for
(b) shot (b) cause
(c) looked (c) evidence
40, 41.
it except a very slight (a) weight of footsteps. He was now walking  (a) from the
(b) sound (b) down
(c) hurting : (c) over
42.
main street, which was crowded (a) with people. He became extremely aware of the danger
(b) by
(c) in
of people threatening him. N
B-PFCA-O-JCV - A 8
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Synonyms
Directions :

Each item in this section consists of a sentence with an underlined word followed by four words
or group of words. Select the word or group of words that is most simifar in meaning to the

underiined word,
43. He was fired for negligence on duty. 45. Divine grace is truly meffable.
(a) relieved of his job (a) that which cannot be rubbed out
(b) scolded ' (b) incapable of being understood
(c) rebuked (c) that which is too great to be

expressed in words
. {d) too powerful to be defeated

44. Democracy is not the standardising of
everyone so as to obliterate all peculiarity.

(d) attacked

46. The convocation address was very

edifying.
(a) demolish (@) tedious
(b) extinguish . () in need of editing
{c) erase : (c) instructive
(d) change ' (d) exciting

Antonyms
Directions ;

Each item in this section consists of a sentence with an underlined word, followed by four words.
Seiect the word that is most nearly opposite in meaning to the underlined word.

47. John is always shabbily dressed. 49. It is necessary to develop thrifty habits to

(a) decently be able to lead a comfortable life.

(b) beautifully ‘ (a) expensive

(c) extravagantly (b) extravagant

(d) scantily {c) economical

{d) good
48. The new manager of the Bank is urbane in
his manners. ‘ 50. Many people suffer because of pride.
{a) civilised (a) lowliness
(b) slow {b) submission
{c) rude {c} humility
(d) foolish (d) obedience
9 A - B-PFCA-0-JCV
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Directions :

PART -B

The following &8 (Eight) items consist of two

statements, Statement I and Statement 11. You

are 10 examine these two statements carefully
and seiect the answers to these items using the

code given below :
Code :

(a) Both the statements are individually
true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually
true but Statement I is not the
correct explanation of Statement I

{c) Statement [ is true but Statement II

1s false

(d) Statement I is false but Statement II

18 true

51. Statement I

Statement [1

52. Statement [

: A complete

: Growth of plants 1s

smooth with a complete
fertilizer.

fertilizer
always contains N, P, K.

: The granules of modem _

gunpowder (also called

54, Statement [

Statement 11 :

55. Statement [

Statement 11

56. Statement |

Statement 11

57. Statement I

: Diamond is very bright.

Diamond has very low
refractive index.

: Oxygen gas is easily

produced at a faster rate
by heating a mixture of
potassium chlorate and
manganese dioxide than
heating potassium chlorate
alone.

: Manganese dioxide acts

as a negative catalyst.

: A body weighs less on a

hill top than on earth’s
surface even though its
mass remains unchanged.

¢ The acceleration due to

gravity of the earth
decreases with height.

: While putting clothes for

drying up, we spread
them out. ‘

black powder) are Statement II : The rate of evaporation

typically coated with increases  with  an

Graphite. increase in surface area.
Statement II : Graphite prevents the

53. Statement I

Statement ] 1

At low

build-up of electrostatic
charge.

: Colour of nitrogen dioxide

changes to colourless at
low temperature.

temperature
Nitrogen tetroxide (N,O,)
is formed which is
colourless.

B-PFCA-O-JCV - A
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58. Statement 1

Statement 11 :

: Due to diffused or

uregular  reflection of
light, a closed room gets
light even if no direct
sunlight falls inside the
roont.

Iregular reflection, where
the reflected rays are not
parallel, does not follow
the laws of reflection.
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59.

Ultrasonic waves of frequency 3 x 105 Hz
are passed through a medium where speed
of sound is 10 times that in air (Speed of
sound in air is 300 m/s). The wavelength
of this wave in that medium will be of the
order of

(a) lcm
(b) 10cm
(¢} 100cm

(d) 0-1cm

If radius of the earth were to shrink by

. 1%, its mass remaining the same, g would

61.

62.

decrease by nearly
(a) 1%
(b) 2%
{c) 3%
(dy 4%

The displacement-time graph of a particle
acted upon by a constant force is

(a) astraight line
(b) acircle
(c) aparabola

(d) any curve depending upon initial
conditions

Which one of the following is not a result
of surface tension ?

{a) Nearly spherical drop of rain

(b) Capillary rise

(c¢) Removal of dirt by soap or detergent
{d) Flow ofa liquid

B-PFCA-Q-JCV — A
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63. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I
(Compound)

List 11
(Nature)

A. Sodium hydroxide 1. Strong acid

B. Calcium oxide 2. Alkali
C. Acetic acid 3. Weak actd
D. Hydrochloric acid 4. Base

Code :

®» 2 4 3 1
() 1 4 3 2

@ 1 3 4 2

64. Which one of the following statements

is mot correct ?

(a) Kerala is the largest producer of
natural rubber in India

(b) Neyveli is an tmportant thermal
power generating area of Tamil Nadu

(c) Ratnagiri Bauxite mining area is
located in Karnataka

{d) Assam is the largest tea producing
state in India

prepp
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65. Match List I with List II and select the
correct answer using the code given
below the Lists :

List 1 List II

(Paper industry (State)
centre)

A. Kamptee 1. Karnataka

B. Rajahmundry 2. Maharashtra

C. Shahdol 3. Andhra Pradesh
D. Belagola 4. Madhya Pradesh
Code :

{a) 1 4 3 2
b)) 2 3 4 1
(c) 1 3 4 2

@ 2 4 3 1

66. The newly formed state of Telengana is
surrounded by

(a) 5 States
(b) 4 States
{c) 6 States
{d) 3 States

67. Energy is required for maintenance of life.
It is obtained by a process called

(a) Metabolism
(b) Phagocytosis
(c) Photorespiration

(d) Decomposition

B-PFCA-O-JCV - A
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68. All life forms contain “molecules of life”.
These are

69.

70.

(a)

Carbohydrates

(b) Proteins °

(c)

(d)

Nucleic acids

All of the above

If a charged particle (+g) is projected with

certain velocity parallel to the magnetic

field, then it will

(a)
(b)

(c)

(@)

trace helical path
trace circular path

continue its motion without any
change

i

come to rest instantly

Optical fibres, though bent in any manner,
allows light to pass through. What is the
inference that one can draw from it 7

(a)

(b)

(c)

)

The concept that light travels in
straight path is wrong

Light can flow through the optical
fibres

Light can travel through the fibres
because of their ductility

Light can travel through the fibres
due to multiple total internal
reflections
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(d) =ga Qo Iais wEdT & FRO

W, Werlfies dat # & g T
T
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71. Which one among the following happens 75. Rain shadow effect is associated with
when a swing rises to a certain height from o
its rest position ? (@) Cyclonic rainfall
(a) Its potential energy decreases while (b) Orographic rainfall

kinetic cnergy mcreases (C) Convectional rainfall

(b) Iis kiryetic energy decreases while (d) Frontal rainfall
potential energy mcreases

(¢) Both potential and kinetic energy 76. Match List I with List II and select the
decrease correct answer using the code given

below the Lists :
(d) Both potential and kinetic energy

Increase List I List I ’
| (Place) (Industry)
72. Which one among the following is used A. Jabalpur 1. Petro-chemical
in making gunpowder ? . industry
. B. Bengal
(a) Magnesium sulphate - 2. IT industry
(b) Potassium nitrate . C. Mathura 3. Paper industry
(¢) Sodwmm stearate D. Ballarpur 4. Automobile
) industry
{d) Calcium suiphate
Code :
73. The cleaning action of soap and detergent
in water is due to the formation of A B C D
(a) Micelle @ 4 1 2 3
®) Sal - ® 3 2 1 4
4 2 1 3
(c) Base ©
: d 3 1 2 4
(d) Acid *

77. Which on¢ of the following irrigation

74. The chemical used as a fixer/developer in canals is the most important in terms of

photography is area coverage in Haryana ?

(a) Sodium sulphate (a) Bhakra canal

(b) Sodium sulphide {b) The Western Yamuna canal

(c}) Sodium thiosulphate (© Jawahérla] Nehru canal

(d) Sodium sulphite ' (d) Gurgaon canal
B-PFCA-O-JCV — A 16
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71.

72.

73.

74.

SE AR A o fRmmEenr @ R
frfsa 3w ae o @ At Fromfofga @
FI A CH T @ 7

(a) Zoht feufos amf o ot @ wefs
s ot e &

() TR T 3= =A A R =
feufes oot srgelt 2

(c) ferfae sk ofw =t =fd o=
Bt §

(&) ferfrst AR wifos T Sl et €

FEg IE # Feafafea # @ foq & &

zeaATe foro ST @ 7

(a) Ay aete

(b) wfiEm AR

(c) wifemm feemte

(d) Ffcram wehe

urt # arg ok Resfe &t fm waa Y

o forereh Fmrtwr R B @ 7

(a) Praer

(b) T

(c) & (+44)

(d) =

wewTh #, e (fewar) /feas
(TFTR) F 9 # J9G0T B I WA
FATR 7

(a) wiieaw ashe

(b) wifeaw avwrze

(c) wifeaw graache

(d) wifeam e

75.

76.

77.

17

Your Pel

- e frw @ wafRE R 7
(a) Sshardt awi
(b) T auf
(c) @t awt
(d) = aut
qa”rlﬁlzﬁrn% T gafaa Fifam
FR ghal & R 3 T Fe w1
T I T ;
G g
(%) (z=m)
A FFAR 1. 9Z1-TETed I
B. SAIE 2. IT =W
C.w YT 3. HU JAM
D. IGRE 4. FRASI JeF
¥/ :
A B C D
@ 4 1 2 3
® 3 2 1 4
c 4 2 1 3
@ 3 1 2 4
efamm #, &= fawar & v § frmfofea

s At ® & 39 @ w waihs
eyl ® ?

(a) WHEST TR

(b) T AT AR

(c) STEATEH HBE e

(d) T AR

A — B-PFCA-O-JCVY




www.prepp.in .repp

Your Personal Exams Guide

78. Which one of the following is the smallest Code :
unit showing the properties of life such as
capacity for metabolism, response to the A B C D
environment, growth and reproduction ? '

@ Gene @ 3 1 2 4

3 2 ! 4
(b} Chromosome ®)

c 4 2 1 3
(¢) Nucleus )

@ Cel d 4 | 2 3

81. A ray of light when refracted suffers
change in velocity. In this context, which
one among the following statements is
correct ?

79. In plants, which one of the following gases
1s released during Photosynthesis ?

(a) Carbon dioxide

(a) Velocity increases as the ray passes
(b) Oxygen from a rarer to a denser medium

{c) Hydrogen ' (b) Velocity decreases as the ray passes
from a denser to a rarer medium
(d) Methane

(c} Velocity decreases as the ray passes

from a rarer to a denser medium
80. Match List I with List II and select the

correct -answer using the code given

below the Lists - (d) Change of velocity does not depend

on the nature of medium

List I List II
(Physical quantity) (Unit) 82. An object is placed 10 c¢m in front of a
convex lens of focal length 15 cm. The
A Disténce 1. Mole image produced will be
B. Amount of 2. Coulomb (2) Real and magnified
matenial

(b) Virtual and magnified

3. Light year
C. Amount of

electrical charge (c) Virtual and reduced in size
4. Watt hour
D. Energy (d) Real and reduced in size

1 B-PFCA-O-JCV - A 18




www.prepp.in

79.

80.

78.

frafafag & =l @t =, SO f
gmar, vt & wfa smfea, afy s
A A S F [ = g v gaw
TR 7

(a) 9N

(b) FAEH

(¢) Arfes

(@) FifsrEa

TGl ®, WeTe Gy F e frfafaa
A # A w2

(a) FE ARG

(b) AT

(c) BRGH

(d) A

o IR gt 0 F i gifm Hifm

3R gft & A9 R 7 g2 W wEm =
TE IR I :

LSl I
(sitfers fin) (z7E)
A 1. |
B. grdf & 7 2. FAM
C.frga sRy S amEr 3, Wy ad
D. 3t 4. ATe-ber

19

(a) 3 1 2 4

® 3 2 1 4
© 4 2 1 3
@ 4 1 2 3

81. I9TaA BIA W Wy Y foRwer & 3w #

afteds gfar 2 | T wed #, Prafafas
T H Y I G TF dgl 8 7

(a) W%%Wﬁmmﬁ
T T R A 9T 8

(b) oo & e wemm @ for wrew A
THA FA 9 AT HEAT 8

(©) Tomr & fora mmam @ v e A
T & T A7 ¥2aT B

(@) I i gl wrem B v w ek
TE

82, Rl 15 cm e g1 A Ferer e 3 A

lOcmﬁ@W@ﬁﬁ@%lﬁﬁfﬁ
wifems Sn g ?

(a) aTEafaE 3T smafda
(b) st sk st
(c) IATEl IR AHY H F=H
(d) TTElEs R 3w d =9
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83. Why is Graphite used in electrolytic cells ? List I List II
: (National Park/ (State)
(a) Graphite is soft and can be easily Wildiife Sanctuary)
moulded into electrodes

A. Chandra Prabha 1. Uttarakhand

(b) Graphite is made of layers of carbon B. Silent Valley 2. Chhattisgarh

atoms which can stide C. Valley of flowers 3. Uttar Pradesh

{c) Graphite is inert to most of the D. Indravati 4. Kerala
chemicals and remains intact in )
) Code :
electrolytic cells
A B C D
(d) g:;;tl;t; is a good conductor of @ 2 1 4 3
b 3 4 1 2
84. Washing Soda is the common name for (c) 2 4 1 3
(a) Calcium Carbonate - @ 3 : 4 2

87. To a perpendicular to the plane of ecliptic,
Earth’s axis of rotation makes an angle of
231 degrees. Had this angle been zero
(c) Sodium Carbonate degree, which one among the following
would result ?

(b) Magnesium Carbonate

(d) Potassium Carbonate (a) There would have been no season

85. Which one of the following Indian states (b) Ehe h‘a)ngth tﬁf day a“ti;lghl: Wf’ltlllld
has the highest proportion of area under ave been the same throughout the
forest cover ? year

(c) The length of the day and night would
(a) Madhya Pradesh have been the same all over the earth

(b) Sikkim (d) All of the above

88. Gametophytes of sexually reproducing

(c) Meghalaya flowering plants are

(d) Mizoram ' (a) Haploid

{b) Diploid

86. Match List I with List II and select the
correct answer using the code given
below the Lists : (d). Polyploid

{¢) Tetraploid

B-PFCA-O-JCV - A 20
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83. foRIa-aruet At ¥ derge 1 IwgT i gl gHHI
w7 (e i / (=)
TS ST )
(a) I3 wWe BT ® 3R Imae @
ﬁq@ﬁﬁmmm% A F 79T 1. SEvE
B BT ESIRL
(b) FHTe, e F AT S oAl @ BHE?Z 2
IAGT B, ST OF g § C. Fell &t el 3. IR WY
(c) ¥wrze sty @At F wiy Ffss b 4. e
o ? AR fr@-awwedt @ A 2 |
HEUW T R A B C D
(@ 2 1 4 3
() ez e = gaers @ | B 3 s 1
84. O 1 \er frm 1 yfora A R 7 02 4 1 3
@ 3 1 4 2
(a) ai%’ﬂ‘?ﬂm‘lﬁﬁz
+ 87. FIfda & wwad & e gzt & gola
©) At a 231 faft & o s ® | AR v
(c) Wifemm FEtaz o g7 i g &t Feafafea § 8 =
g g ?
“ (a) = 7T gt
85. Prafafas wrata o=t i & Rem & o @) T sk T o R gum v & @
&1 =T ISR I R 7 (© fF iR va & w=rE g w® wh
(@) 7o R SATE @ Bt
(@) e &t
() fafeE=
E 88. dfirr w7 AT It wredl ¥ gEaghig
) (TFarEe) @ E ?
- (@ B (2) R (Fiee)
86. ¥l 1 = ¥ 11 & @ gafem difig ©) Tegra u)
3R it & A% R 7 5 = v R (c) wRrT (i)
e g gfra @ = (vfrres)
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89. The seeds of flowering plants are made up
of

(a) Ovary and ovary wall
(b) Embryo, food reserves and coat
(c) Cotyledons

(d) Zygotes

90. A person stands on his two feet over a
surface and experiences a pressure F.
Now the person stands on only one foot.
He would experience a pressure of
magnitude

(a) 4P

) P

@ 2P

91. A solid is melted and allowed to cool
and solidify again. The temperature is
measured at equal intervals of time. The
graph below shows the change of
temperature with time.

Temp.

Time

The part of the curve that is practically
horizontal is due to

B-PFCA-O-JCV - A
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{a) latent heat given away by the liquid
(b) specific heat given away by the liquid

{c) thermal capacity changes with time
keeping temperature constant

(d) change in density during transforma-
tion

A deep sea diver may hurt his ear drum
during diving because of

(a) lack of oxygen
(b) high atmospheric pressure
(c) high water pressure

(d) All of the above

. When you walk on a woolen carpet and

bring your finger near the metallic handle
of a door an electric shock is produced.
This is because

(a) charge is transferred from your
body to the handle

(b) a chemical reaction occurs when
you touch the handle

(c) the temperature of the human body
is higher than that of the handle

(d) the human body and the handle
arrive at thermal equilibrium by the
process




89. gt ureet & siw fra @ fffa S & 7
(a) e R sieww-fafy
by 91, @ = (ge fad) iR smerwm
(c) =iorTy

(d) WA

s ARw D e W oo o i w
31 BT R 3R P I T HqwE el ¢ |
7= 7% =afeh el U R R G e 2 |
% ferer afemor &1 g@ s R 7
(a) 4P

by P

90.

(© 3P

d 2P

91. forelt 3 Y e smar R R dTT W
qA: S B fear s @ | ee v
ERTAT G IGHT ATIHH AT AT & | 9
fan s % W F W qEE TRada
&1 qufar @

N

AN

0 Lo

Sy
rd

oh F IW W F, W AEEING T B
gfasr 2, Ry 7 2 ?
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(a) B TR I[H FAT SISt ATl 8
() 3 gra Fifsre som DI S @

(c) AT %nﬁm a1 F g @d T
T & 919 IfEfda gidl @

(d) TR & QA T gRafdd g €

MaT TG g9 feh Ma@R & &1 @7
e frg o @ aforsm R awar 2 7

(a) TR S Fwl
(b) =4 TR T

() I=4 9 g
(d) I T

I e o) FeT W e wHE SO
I Y A R 7 o g & 2w &
T & TH @ O farga see @ @
THFHT HROT FT 8 7

(a) & WR d IRy e w
ARG B ST

AT GRT e 9 W uw
sf¥rfomar St 2

()

AT SRR &1 I99H 8fed & a9a=
¥ arftrs g 2

(c)

6 Wl ¥ wHT 91R 3k #feq & me
AT G & §

(d
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Which one among the following does
not wet the walls of the glass vessel in
which it is kept ?

(a) Water
{(b) Alcohol
(c} Mercury

(d) Phenol

Permanent hardness of water is due to the -

presence of

(a) sulphates of sodium and potassium
(b} sulphates of magnesium and calcium
(c) carbonates of sodium and magnesium

(d) bicarbonates of magnesium and
calcium

In the reaction ZnQ + C - Zn + CO, *C’
acts as

(a) anacid
(b) a base
{c) an oxidising agent

(d) areducing agent

Which of the following are the charac-

teristics of organic farming ?

[. Use of chemical fertilizers to
improve soil fertility.

2. Frequent decomposing and fal--

lowing.

3. Use of herbs to control pests.

- 4. Higher productivity per hectare.

B-PFCA-O-JCV - A
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Select the correct answer using the
code given below :

{a) 1 and 4 only
(b) 1,3 and 4
{c) 2 and 3 only

@ 2,3 and 4

“Yakuts’ are the nomadic herders of
(a) Gobi

{(b) Sahara

(¢) Tundra

(@) Kalahari

A farmer in a semi-arid area claims that
his farming practice is very environment
friendly. Which of the following practices
on his farm can justify his claim ?

1. Planting a tree belt.

2. Practising crop rotation.

3. Carrying out a large scale imgation
system. ‘

4. Using organic fertilizers.

Select the correct answer using the
code given below : .

(a) 3 and 4 only
(b) 1,2 and 4
(c) 1,3 and 4

(d) 1 and 2 only




94, frforfae ¥ ¥ 97 a1 o, FE F UE &,
o+ o 9% <@ giaT &, SR & A TE

FAT ?
(a) e

(b) UeHIEe
(c) T

(@) HEa

95, 91 H Tl Fowar fewehl Iufeafy &
FR Bl § 7 |

(a) Wfsaw iR THITH & Tohe

(by Ffimm stk Hfmm & wethe

(¢) wHiftam 3t Hifimm & wEe

(d) Fnfimm ok Sfchaw & seEie

96. JMAGFT ZnO+C — Zn+CO, ¥ ¢’

froafofes & & fe o & =1 § 7
AT 8 ?

(a) 34

(b) &

(c) S99IER

(d) FT=aH

97, e it o Frefefae & A o 6 rdiwd
€7 '

1. g5 IR @t g9d w@ ¥ fau

AT @ w1 A 1A |

2. INER Fqied w1 (Stai) ik
TRl BEAT |

3. AR Sal & Freem vg et =
TART FAT |

4. wfq SRR I IqTEHRAT 7T |
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qH @ T Fe F OWER R EEl TR
E\GCE

() ¥aE1 AR 4

(by 1,3 &K 4

(c) Fad2 3R 3

(@ 2, 33K 4

IR @8 TTGd Fal & 8 ?

(a)

(b) HBRT

(¢) &5

(d) FremErt

ol -y & W U foRam e aRan
2 & Sueht f ugafy wafew & w@ga

IFA B | S8 ga i frafafaa § 4 @
ﬁwﬁﬁwaﬁﬁeﬁﬁmaﬁ%?

. &t Y AR AT |
2. FEAL & e WK A IRy oA |

3. 9¢ oM W faurE =gen 3wa A
Gl

4. 39 JERB| HT TAN HCT |

IR @ ™ e W W R EE W
I

(a) Fa< 3 IR 4

() 1,2 3R 4

() 1,3 3T 4

(d) ¥ 1 3R 2
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100. The luxuriant growih of natural vegeta- (c) Schwann cells
tion in tropical rainforest is due to

(d) Smooth muscles
1. fertile soil.

2. hot and wet climate throughout the 103. The product of conductivity and resistivity
year. of a conductor

3. intense sunlight for photosynthesis. (a) depends on pressure applied

4. seasonal change to facilitate nutrient (b) depends on current flowing through

absorption. conductor

S:(ljzc;i:i: bz;aor‘rve(':t answer using  the (¢) 1is the same for all conductors
{a} 1 and 4 only (d) wvaries from conductor to conductor

(b} 2 and 3 only 104. We use CFL to save electrical energy and

to provide sufficient light. The fuil form of
(c} 1,2 and 3 only CFL is -

d 1,2, 3 and 4 (a) Condensed filament light

101. Which endocrine gland requires jodine to : (b) Compact filament lamp
synthesize a particular hormone whose
deficiency may eause goitre disease ? (¢) Condensed fluorescent lamp

(2) Hypothalamus (d) Compact fluorescent lamp

(b) Pancreas

105. When the sun is 30° above the horizon,
(¢) Thymus shadow of one tree is 17-3 m long. What
is the height of this tree ?
(d) Thyroid gland

(a) 20m
102, Which one of the following is not a part
of nerves ? () 17:30m
(a) Axons , : (¢} 10m
(b) Connective tissues . (d) 1-73m
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100. Swfesety aufad # wiwfos ety 6
sreafus gig =1 $rm

1. S9F eI 2 |
2. T T AR A Ferarg # |

3. wEw-dwwn % frg o =1 dm
TE B |

4. TRl & Hgwmw & foq e
afEda ® |

i R ™ = o WA W
o
(a) a1 3R 4
(b) Fa« 2 IR 3
(¢) sae 1, 2 AR 3
@ 1,2, 3 34
101. T Rifirs wit o, Rreeh weh @ e
(TTTZeR) T B Wl B, Gl & o forg

fra smuEl (GEereR) w1t = smEE
H ATEIFHAT B 8 ?

(a) FaTHAAH (FTEATHEE)
(b) sy (fsparer)
(c) e |
(d) sguth ((ansise wf)

102. Frafafaa & @ &9 a1 ©F dleret & 9

TE R 7

(a) 3erag
(b) WA FaF
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(c) ¥ HisrRT

(d) =g ufimt

Tl e <Y ST AR wiaeerar =1
TUARA FT gl & 7

(a) 7€ I @ R R aan &
() T8 IEE § warfed g w Fft

AT ¢
(c) AT AToren] & ol a9 BT 2

(d) R~ TTeleh H - BT &

faga o=t &1 599 FA o wafg gy
T & T R CFL &1 991 &7 € | CFL
H I ET T ?

(a) Freres Treme Svw
(b) whdaz e 3=
(c)‘a@i%wﬁfﬁ{ﬁw
(d) FHF FIRIT 49
v g et & 3005w B 1w g

BET 173 m @ T | 39 gy & IR
TR ?

(a) 20m
(b) 17:30m
(c) 10m

@ 173m

A — B-PFCA-O-JCV




www.prepp.in .repp

Your Personal Exams Guide

106. When heat rays are reflected from Earth,
gases like Carbon dioxide, Nitrous oxide
do not allow them to escape back to the A B C D
space causing our planet to heat up. These
gases are known as

Code :

(a) 4 | 2 3

(a) Noble gas ® 3 2 1 4

(b) Green-house gas {¢) 3 4 1 2

d 4 2 1 3
(c) Hot gas @
109. Which of the following statements with

regard to the westem coastal plain of India
are correct ?

(d) Blue gas

107. A spring can be used to determine the
mass m of an object in two ways : (i) by 1. Tt is a narrow belt.
measuring the extension in the spring due )
to the object; and (ii} by measuring the 2. It is an example of submerged
oscillation period for the given mass. coastal plain.
Which of these methods can be used in a
space-station orbiting Earth ? 3. It provides natural conditions for
.development of ports.-
(a) Both
4. It has well developed deltas.

Only the extension method
®) Y * Select the correct answer using the

{c) Only the oscillation method code given below :

(d) Neither (8 1,2 and 3 only
(b} 1 and 2 only
108. Match List I with List II and select the
correct answer using the code given (c)
below the Lists :

1, 2, 3 and 4

(d) 3 and 4 only

B-PFCA-O-JCV - A
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List I List II
(Region) (Vegetation) 110, Which one of the following weather
) conditions indicates a sudden fall in
A. Selvas - Conifers barometer reading ?
B. Savannas . Mosses and (a) Stormy weather
Lichens
C. Taiga (b) Calm weather
. Epiphytes
D. Tundra (c) Cold and dry weather
. Grasses and
trees (d) Hot and sunny weather
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106. 5 it Rt gt & woafia 25 &

107.

108.

I ag gt § a8 9@ 3, o
FRO BHT A TR BT OB A AT
FEAET B ?

(2) IFE (Ferer)
(b) WH-ggE A9
(c) oW A%

(d) it (=g )

et aeg 1 g mwT w1 F B wm
FATAT T IR A WhR & FFam s wahar
 : () 95 F w0 A F ame freaw #
9T ;3R (ii) 72 93 gomm & Sem
el T ATIH & | Gt Y her F qigw
w9 foret siafg-ehw A = ol
| Tt =1 v fran s wee @ 2

(a) ‘
(b) Faa faeamw fafy
(c) I qrom fafy
@ <A ¥ F 7
T 1 g 1 F g gifm Al
AR gt & 47 R @ 52 w1 @
T IW g
LRS! I
(&) (=retar)
A. T 1. ¥33% |
B. &3 2. A 3R AT
C. & 3. aftrrgw
D.g¥ 4. &g 3R 34

Your Persona

% -
A B C D
(@ 4 1 3
b) 3 2 1 4
(c) 3 4 1 2
@ 4 2 1 3

109. RG & ufgadt ol fem & ar &

frfafes st d SR @ wdi € ¢
1. T8 U wehiof 95t 2 |

2. w8 Frm wdm T @1 wE gem
2|

| Exams Guide

3%@%%@?%%@%.

ST WS AT ¥ |

4, T R 3T § |

R T g W oW A wd e

110.

3

(a) ¥ 1, 2 3R 3

(b) Faa 1 3K 2

(c) 1,2, 334

(@) Faa3 3k 4
ﬁw%f@aﬁﬁﬁm@qﬁwaanﬁ
KR F T § wHes 6 et @ 7
() T Htaw

(b) T HEw

(©) aﬁaaﬁrgﬁlﬁm

(d) ¥ 3R guaTen Few
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111. Match List I with List II and select the In which one among the following lettered
correct answer using the code given areas of the diagram would erosion most
below the Lists: likely change the shapes of the riverbed ?

List I List IT (a) A
(Island) (Location)
B
A. Continental island 1. Mauntius ®)
B. Coral 1sland 2. Madagascar © €
C. Volcanic island 3. Andaman (d D
and Nicobar i
D. Mountain island islands

113. Match List I with List II and select the
4. Maldives correct answer using the code given
' below the Lists :

Code :
List 1 List II
A B C D (Cloud) {Characteristic)
@ 2 4 1 3 : A. Cirrus 1. Rain giving
b 2 1 4 3 B. Stratus 2. Feathery
appearance
(©) 3 ! y 2 C. Nimbus
3. Vertically
d 3 4 1 2 :
@ D. Cumulus growing
112. Consider the following diagram : 4. Horizontally
spreading
Code :

@ 3 1 4 2
® 3 4 1 2

€ 2 4 1 3

@ 2 1 4 3 |
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HL = 1R g 11 F @9 gafm ik

IR gieat & = @ ™ g2 F1 e w
GRS
kil g1
() (srafeafa)
A. RETRY 9 1. Rl
B. WAt ¢ 2. HIRIRR
C. SR §T 3. 3izAM IR
D. vddta g Eﬁwﬁq
| 4. WA
T :

{a) 2 4 1 3
(b) 2 1 4 3

{¢) 3 1 4 2

(d 3 4 1 2
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W ARG &, "4 f&u o seifra N T @
g T X, e SRET §RI AaT 9
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(a) A

(b) B

() C

d D

gt I H et 1 % dy gafea ifm

I ghat & R 3 ™ g2 w1 vy ==
aﬁwﬁﬁm:
i I
(W) (fargraar)
A 1. auf & qren
B. @l 2. foszwmm (Hed)
ST
C. aufiy
3; Fmf 3ig
D. St
4. 8= o=
Hc:

(a 3 1 4 2
b 3 4 1 2
© 2 4 1 3

@ 2 1 4 3
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115.

i1e6.

114. The concept of demographic transition

provides a model for

(a)

(b)

(c)

(d)

analyzing government responses to
changing pattern of population growth

explaining major patterns of global
population movement throughout
the history '

analyzing spatial variations in the
distribution, growth and movement
of population over time

examining the relationship between
economic development and natural
population change ‘

Precursor of which one of the following
vitamins comes from f-carotene ?

(a)

b)

()

(d

Vitamin A

Vitamin C

Vitamin D

Vitamin K

‘Lub-dup’ sound is produced due to action

of

(a)

(b)

(c)

(d)

Large intestine

Lungs

Heant

Oesophagus

B-PFCA-O-JCV - A
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The Sun is observed to be reddish when it
1s near the horizon, i.¢., in the moming and
the evening. This 1s because

(a) red light 1s least scattered by
atmosphere '

(b) red light is most scattered by

atmosphere

(c) 1t 1s the colour of the Sun in the
moming and evening

(d) Earth’s atmosphere emits red light

Thermal conductivity of aluminium,
copper and stainless steel increases in
the order

{a) Copper <Aluminium < Stainless Steel
(b) Stainless Steel < Alurninium < Copper
(¢) Alumimium < Copper < Stainless Steel

(d) Copper < Stainless Steel < Aluminium

Perspiration cools the body because

(a) presence of water on the skin is
cooling

(b) evaporation requires latent heat
(¢} water has a high specific heat

(d} water is a poor conductor of heat
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114,

115.

116.

Fiferha vl gweaA R &
fom = wioew wem St & 2

(a) wEE gig & TG gU EET & Wiy
T wliferaratt =1 fasawwr s

(b) sem & | R F Fw 9@
A & THE €691 ! ST FAT

(c) W & 9w, Swaen ¥ fFmw, gf
R udem # e fa=t &0
fargeyeor e

(d) i faem i wils seoen
giads & ay weey Y JiE S

frafafen frafimt & 3 /e w =
FIATH B-HFUET | W Bl @ ?

(a) f\HETﬁFIAJ

(b) feifim C

(c) fefimD

) FEfm K

‘o-z9’ ety fra B formn & oo 9w
BB 7

JORCEEIS

(b) R

() '
(dy TG

117.
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s g fafos & frwre Stan &, aafq q=e
R TR F, 79 q€ oAt Ik Tewd
2 | THH TR0 FATE 7

(a) R WY & TEHEH TR <[AAH
wehtof giar

(b) AT WA 1 AgHSA GRI HAIEE
EEICC RIS

(c) Ha% 3Ry § gF &7 8 T BT

(d) JHT T FGHSA A UHTY oAl
RGN

vefrfew, am R SRH g &t
FeT-areear o sen # aedt R 7

(a) T < ugfafem < SR Fearg
(b) SR TEIE < wehifm <am
(¢) UgtHfm <am < St e

(d) T < SR T < vgfufaw

TEMAT SR & IV oAl B, Hife
(a) AR G Y WG Sitaear Sa @

) adiEa & fog m owww &
IS Bl B

(¢) Tt At frfire o 9= Bt 2
(d) T FSAT 1 B AT B
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120. The radius of the Moon is about one-fourth
that of the Earth and acceleration due to
gravity on the Moon is about one-sixth that
on the Earth. From this, we can conclude
that the ratio of the mass of Earth to the
mass of the Moon is about

@ 10

(b) 100

(c) 1,000

(d) 10,000

121. Which of the following country/countries
successfully inserted a spacecraft into

Mars’ orbit by maiden attempt ?
(a) USA

(b) USA and Russia

(c) India

(d) China

122. The European Space Agency (ESA)
successfully landed a spacecraft on a
speeding comet that lies 310 million miles
away from Earth. As a result, the scientists

may find out

(a) the age of the Sun

(b)

the age of the Universe

(¢) new fundamental atomic particles

(d)

the role of the comets in bringing
organic matter and water to Earth

B-PFCA-O-JCV - A 34
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Who among the following Nobel laureates
has recently announced to put his Nobel
Medal under auction ?

(a) Kailash Satyarthi
(by J D Watson
(c) Mikhail Gorbachev

(@) Jody Williams

Which one among the following
statements with regard to a climate deal
adopted between USA and China in
November 2G14 is not correct ?

(a) China committed to cap its output of
carbon pollution by the year 2030 or
earlier

China committed to increase its use
of zero emission energy to 20% by
the year 2030

(b)

(¢) USA agreed to reduce its emissions
by 26% — 28% below its year 2005
levels in the year 2025

(d) Both the countries agreed to com-
pletely phase out coal technologies

by the year 2020

Which one among the following books
is centered around ‘environment’ ?

(a) The Late, Great Planet Earth
(b) Silent Spring
(c) Here I Stand

(dy And Then One Day
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120, <51 it Brown gt i Broan @ e o-
o & o Jgmn W Tl =R gz R
& TEetT RO T IR BT e
TR BH YA & TEAH W FET & A
# T FT AT o H e frae
g § ?

(a) 10

®) 100

© 1,000

@ 10,000
frafafaa § @ a9 @ 2w/3900 % ww

WAt A € saier am St wweaT g Wi
U il weT § 1@ T 7

121.

(a8 4. W. T
b) 7. . T R &
(c) WRd
@ =
122.

I F T THE A T, St 15 g
¥ 310 Fiforam i@ i gt ) 2, wheaTgds

FART | T RO W, 3 Far gan

A FqET 7

(@) T oy

(b) I = 3ng
(c) 77T TR Y F01

@) T T SR ST w g | At #
Rt ht T

it siafer T (ESA) ¥ T sraker
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123, Frafafea & & fra e [ fomr 3
BI €1 H A AT Tqh Y H A FA
=TT H 7

(a) Srersr weaHf

() st € A
(c) Tiramge mafEe

@) e Pafor
124. 7% 20149 g,08.1, 3R 919 F 9 g
ST WA & e # et FwEt
A | HA a1 uF qE w0

(a) 99 ¥ 2030 9% 1 GG TR A
s TGy o feta wt faifa g
& e 1@ % T aweg gan

=t ad 2030 7% FUA T S
ST & IR B 20% =g & & g

EECEF-RE)

Z.UH. T, q9 2025FF HIH FeaoiA &
o€ 2005 % TR § 26% & 28% "N
T TR HT WA gIAT

T 39 2020 7 rerer enfiReE
1 Pl T 3R 3 % forg wew

(b)
(c)

(d)
125. freforen & & 2 ) o g AT
RERaT e ?

(a) T ¥, Iz e aef
(b)‘m%ﬁ?a'ﬁnm
() foor amd we
d TgAame
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126.

127,

128.

129.

Who among the following cricket players
has not died while playing a match ?

(a)
(b)
(©)
(d)

Wasim Raja

Phillip Hughes

Raman Lamba

Vijay Hazare

Which one among the following films
was conferred the ‘Golden Peacock’

award in the 45th International Film
Festival of India (2014) ?

(a) Ek Hazarachi Note

{b) A Short Story

(c) Leviathan

(d) Ajeyo

Which one among the following films was

awarded the best motion picture (Drama)
in the 72nd Golden Globe Awards ?

(a)
(b)
(c)
(d)

The Theory of Everything
Bovhood
Still Alice

Birdman

East Zone won the prestigious Deodhar
Trophy cricket tournament 2014-15 by
defeating

(a)
(b)
(©)
(d)

South Zone
Central Zone
West Zone

North Zone

B-PFCA-O-JCV — A

36

130.

131.

132.

Which one of the following books won
the Man Booker Prize 2014 ?

(a) History of the Rain
(b) The Lives of Others
(c) The Narrow Road to the Deep North

(d) How to be Both

The Second Five Year Plan that called
for the establishment of Socialist pattern
of society was commonly referred to
as the

(a) Harrod-Domar Plan
(b) Mahalanobis Plan
(¢) Nehru Plan

(d) Peoples Plan

Harappan crafts display an amazing
degree of standardization. According to
Kenoyer, what was the possible reason for
such an achievement ?

(a) Availability of raw materials at local
level

(b)

Centratized markets for crafis

(c)

Specialized training centres for
crafismen

State control

@
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126.

127.

128.

129.

freafirfe 3 & 9 & frde Rt St g
A5 e T A R 7

(a) <M T
(b) THfera g
() T @
(&) Frem g

WA & 459 Iy e 99RiE (2014)
A freafofia et 4 @ sl @ ==t

(2) & TARHA A
(b) T @
(c) e

@ ;R

frafafaa & @ e o= foer =1 7238
M HE Rl qaigee et
(gmm) =1 EHR fegn e 2
(a) %ﬁaﬁaﬁ@frﬁn

(b) =1aEE
(¢) feem Uferm

(@ N

&l W @ wfafg R gy whie
2014-15 g =Y vl o= <t ?

(a) <Pt A=
(b) WEA AN
(c) wiewf wim
(d) I8¢
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130.
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132,

Your P

Frafafea & @ fom v = &1 2014
T gER WEA UeF fenar v ?

(a) %Eamﬁi_ff
(b) T& v wiw arqd
(c) e Rz g’ Sy 7o

@ TSZ =

g g=awly aism =1, el e &
gaTaTe wiaeq & wraat Y srwten ot
A TR/ FT FB/T AT AT ?

(a) BE-THR AT

(b) WETEHeTE TS

(c) Ae® A

(d) = T (T )

geoq I gEaeRt AEdeE & &
A Ft welifa axat & | Fm &
IER, TA TG FI ITATSH H THT FR
qT 0 7

(a) FH WA i T WL W qrean
(b) TEEN & fo I TwR

(c) =wRI % foy frediga wfiemr oy

(d) T T
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133. Consider the following statements about 135. Which one among the following sects was
Ashokan rock edicts : associated with Gosala Maskariputra ?
I. Major Rock Edict XIII records (a) Vajrayana
Ashoka’s remorse at the sufferings jray
caused by his Kalinga campaign.
. (b) Ajivikas
2. Major Rock Edict X records
Ashoka’s visit to Lumb@. (c) Sthaviravadins
3. Major Rock Edict XII refers to
Dhamma Mahamattas as a new (d) Mahasanghikas
category of officers instituted by '
Ashoka.
. 136. Consider the following statements about
4. Major Rock Edict XII speaks about the early modemn technology in India :
showing tolerance towards all sects.
Which of the statements given above 1. The Portuguese brought European
are comect ? movable metal types to Goa in 1550.
(2) 1and4only 2. The first Indian script of which types
were prepared was Tamil.
(b} 2and3 :
(c) 3 and4 only 3. The English Cqmpany’s first experi-
ment with printing press was at
(d 1,3 and4 Calcutta.

134. Which one of the following is the commeon 4. The English Company imported
element among Rajagriha, Vaishali and printing press to I_nd_l,a in 1674-75 at
Pataliputra ? the request of Bhimji Parak.

(@) Pali canon of the Sthaviravadins Which of the statements given above
was Compilﬂd there are correct ?

(b) Ashokan Major Rock Edicts were
found there : (a) 1 and?2only

(¢) Places where Buddhist Councils (b) 2and3

' were held

(d) Places associated with the compila- () 3and4
tion of Buddhist canons of the
Mahasanghikas (@ 1,2and4

B-PFCA-O-JCV - A 33
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133. 3% & firemelgt & ar # Feafafag
Fam1 )RR fif .

1. 7@ fyeem XU At & i
Ffiam & FRw g Il & gU 96
wqar <t Afiferfad s@ @ |

2. wiy@ R X s $i Jfar $i
7 & afefaRe s @ |

3. wipE fyamera X1 sy gr st
T QT % siftria, aen wgvmi
&1 fafde awar &

4. w@ Ty X1 e+ gt & 7fy
TgAtear fogm # FEar

IT # A IR A e G E 2
(2) Fae 1 3R 4
(b) 2 3R 3 |
(c) a3 3K 4

(d 1, 33R4

134. TR, e iR wiefergs 3 frafofem
¥ 3 O OF q9EaT B 7

(a) wafeRat =1 wifer aﬁagas‘r
TeRfeT g @

) S F ww Rreera 78t 9t 1w
(c) ﬁ%w%?ﬁaﬁﬁﬁ%@ﬁ

(@) 3 v e & sy adeA %
Uhel 4 Watta &
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135. frafafaa # @ s a1 s 9wem o=
AR 4 TeEita § 7

(a) AT

(b) it
(c) waRad
(d) =BTt

136. wRd # = snghiw wRARE F 9 A

frafafaa ot w e Hifso .

1. Tt 1550 3 g <or o ened

T ® T |

2. vgdl wRaE fufe, faes eg s=m
T, afier 4 |

3. RN wFE &7 g & U
TAN HAHT H AT |

4. Efey FFEI A WA 9RE F AWE

R EUEE 1 WRd H 1674-75 #
e foRam |

ST # A A A Fu wd E 2
(a) Fad 1 3R 2

(by 2 33

() 3 AR 4

@ 1,23R4
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137.

138.

Which of the following statement(s)
is/are true for Olympe de Gouges ?

1. She was one of the most important
politically active woman in revolu-
tionary France.

2. She was one of the members of
the Committee that drafted the
Declaration of Rights of Man and
Citizen.

3. She wrote the Declaration of the
Rights of Woman and Citizen.

Select the correct answer using the
code given below :

(a) 1 only
(b) 3 only
(c) 1 and 2

(d) 1 and 3

Arrange the following inventions in the
field of cotton industry in chronological
order (starting with the earliest) :

1. James Hargreaves’s Spinning Jenny
2. John Kay’s Flying Shuttle

3. Samuel Crompton’s Mule

4. Richard Arkwright's Water Frame

Select the correct answer using the
code given below :

@ 1,3,4,2
® 21,43
(c) 4,1,3,2

d 2,4, 1,3

B-PFCA-O-JCV — A

139.

140.

141.

prepp

Your Personal Exams Guide

While opposing the Public Safety Bill, 1928
who among the following said that it was
‘a direct attack on Indian nationalism, on
the Indian National Congress’ and as ‘the
Slavery of India, Bill No. 1” ?

(a) Motilal Nehru
(by Lala Lajpat Rai
{¢) T Prakasam

(d) Diwan Chaman Lal

Soon after the formation of Indian National
Congress, the British became suspicious of
nationalists. Who among the following
called Congress representing only the
elite — ‘a microscopic minority’ ?

(a) Lord Napief
(b) Lord Dufferin
(c) Lord Ripon

(d) Lord Lytton

What is the common element among Ram
Prasad Bismil, Roshan Singh and Rajendra
Lahirt ?

(a) They threw a bomb in the Central
Legislative Assembly on 8 April, 1929

(b) They were the founder members of
» Swaraj Party

{c) They were the founders of Hindustan
Republican Association

(d) They were associated with Kakoni
Conspiracy case
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137, frferfan & & @3 a1 /8 5o ffw @
T F AR F FE 2 /E ?
1. wIfgHERt %ig | 9% oAl &9 4
oo 7@ 7 srfires gyl wigena §
T U 91|

2. 98 Je8 3 A (A9 Uz fafesm)
& afrard 6t Swon 1 wrew d9R
FRAE AT S e A A |

3. SR Afeen #Rk amia (A U
fafem) & sfiert i gwwm =
feran |

’ T @ ™ g w1 oW W oEE R
I .
(2) ¥ad |
(b) Fa 3
(c) 1 3R 2
@ 1 3% 3

138. et a| I & 8§ g9 9 ffafea
HFFRT T FATHA (98 763 ¥ &
FR) F TR ;

1. g graiiew Y &t A
2. T & & T weH
‘ 3. e w1
4, F=d smedRrse o areX W
= Q@ W e & @ W EE TW
g
(@ 1,3,4,2
(b) 2,1, 4,3
{(c) 4,1,3,2
@ 2, 41,3
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139. 7 TRen fados (afers @t foe), 1928
F1 Ry o w9w frafofes & 4 5o
@1 71 & 75 ‘aReta TgEg |, W
TEIE HiE R HT wER & R ‘ARa i
SO F1 Uge! Fr) 1 faet’ B 7

140,

141,

(a) TS AT

(b) ST HHT T

(c) ot IR

(d) CEW 99 o

TR TEE FHRF H 757 B F i g
fafew, wgarfeat & afs swmg & |
Frafafaa # @ fow 7 = 5 wide 3=
fafse =t — ‘gen wowwer w1 @
wiafrfires w8 7

(a) TS AR

(b) @TE gwRA

(c) @i fua

(d) g forea

vt fafde, e g stk Tt anfst

& I T R

(a) TR 8 I 1929 F I frum wanr
T =7 S

(b) F TR IR & GEAIF el ¥

(c) é. fegam faferam waifiwem &

qeTaE @
(d) ¥ FER! vgIF AHS § Gog @
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142. Which of the following is/are not funda-

mental right(s) under the Constitution of
India ?

1. Right to education.

2. Right to work.

3. Right to form associations.

4. Right to pracfise any pmfession.

Sélect the correct answer using. the
code given below ;

(a) 1and 2
(b) 2 and 4
(c) 2 only

(@ 1and3

143. Mahatma Gandhi’s Hind Swaraj is essen-

tially
(a) a cntique of Western modernity

(b) an outline of his philosophy of
Satyagraha

(c) an invocation to Indians to free
themselves from the British

(d) ablueprint of Gram Swaraj

B-PFCA-Q-JICV - A

144.

145.

146.

The Seventh Schedule of the Constitution
of India contains

(a) provisions regarding the administra-
tion of tribal areas

(b) the Union List, the State List and the
Concurrent List

(c) alist of recognized languages

(d) provisions about the disqualifica-
tion of Members of Legislatures on
grounds of defection

Pochampally in Nalgonda district of
Telengana became famous in April, 1951
because

{a) the Bhoodan movement was
launched there by Vinoba Bhave

(b) the landless peasants rose up m arms
against the landlotds

(¢) it witnessed violent .anti-Hindi
agitation

(d) Silk weavers’ cooperative was
formed for the first time in India

Who among the following was not asso-
ciated with the Sarvodaya movement ?

(a) Jaya Prakash Narayan
(b) Acharya Vinoba Bhave
(c) Dhirendra Mazumdar

(d) G V Apparao
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142, 9d & gfavm ¥ ave feafefag § @
& 91 /8 va st T /8

1. forer o= =7 arftre
2. F 9M w1 AER

3, T T T AR
4. % 3 FA T AfirFr

’ AR T g W N R T IR
3P

(a) 1 IR 2
by 2 ¥R 4
(c) Had 2

d 1 33

143, Tt i 1 i o a9 T # 7
(a) ufvadi amygfasar ft o sreE

(b) TAWE & I @ il wU-@T

(¢) fofear @ w9 = @ad =T @1
ARG & 3TgH

| (d) T @A R TF &9-GT
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HRA & ®fag® & emdl sqga # w0
Ftde 8 7

(a) ST &F F WA & &R W
IuSY

(b) Y, T YT AR FHAA G

(c) WIATTHTE WIHTAAT &) A

(d) < aiEda & R W) G -redt &
geen f fdan & IR & gyEy

FEATHT & ATeTiveT et § qremget 3

1951 % 5@ svror wfbg & w2

(a) Tamten w13 A =TT qEW HIGIeH KA
T

(b) gfiria foram yenfuat & faeg v
dE 95 e g

(c) uel fews feg-Rrieht smgiem an mn

(d) WRA W IEe! IR IR AR Gl
1 5T A

frafafea & @ =¥ wafza agaa | g9
qg ar ?

(a) ST WY AREW
) F= e
(c) NG PR
(d) ST F FOURE
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147.

148,

149.

Article 368 of the Constitution of India
deals with

(a)

the powers of the Parliament of
India to amend the Constitution

(b)
(©)

financial emergency

reservation of seats for Scheduled
Castes and Scheduled Tribes in the
Lok Sabha

(d) Official Language of the Union of
India

Which among the following is not a basic
feature of the Constitution of India ?

(a) Fundamental rights

(b} Independence of judiciary

(c) Federalism

(d) The unguestioned right of the
Parliament to amend any part of the
Constitution

Which one among the following is nof

a fundamental duty ?

(a) To abide by the Constitution of India
and respect the national flag and

national anthem

{(b) To safeguard public property

B-PFCA-O-JCV - A
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150.

{c) To protect the Sovereignty, Unity and

Integrity of India

To render
service

(d

compulsory mulitary

Which of the following are the basic
features of the Constitution (73rd
Amendment) Act ?

1. Provides for a three-tier structure
of panchayats in the village,
intermediary and district levels.

2. Reservation of seats for Scheduled
Castes and Scheduled Tnbes and
women in all the tiers of
panchayats.

3. Election to panchayats under the
supervision of the State Election
Commissions.

4. Introduction of the 11th Schedule to
the Constitution.

Select the correct answer using the
code given below :

(a)
(b) 3 and 4 only

1, 2 and 3 only

(c)

(d) 2 and 4 only

1,2, 3 and 4
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147,

148.

AR & \ITE H =g 368 forw & wey
LA

(a) FTTM F1 AAEA FA N HRG
Tag st afth

() foeia s

() @ W A ogEfw il sk
Fgia st & fom st W
e

(@ mﬁﬁﬁw

frrfofaa & & @7 &, g & wfaum &

- sy fasteen Wi @

149.

(a) WA AfER

(b) ~aTagTfereRT Y @dEar

(c) uRE"aTg (Hetferw) |

(@) wfyam & e ot 9w %1 9w
FA & vug & ffae afs

frafrfaa & @ a9 w1 &, 99 ==

wE R 7

(a) WId & GRET &1 I1eH o AR T
=9 3R TP TH F1 31T AT

(b) A "ul F gfHa A
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(c) AR F wIaT, TEHal AR @
TET AT

(@) fe=d &= T wem Fwn

150. feafafea & & == =1, @faw (739

auted) sfufam 3TT@IT{‘31?F faeiwamd
g7

1. 3, weradt AR e w3 9 g=mat
F Br-wl U= W1 J9Ey |

2 sqgfaa wfedl AR g
FATIRET 3 Afeenan & foag vamaat
F AT T R T T IRE |

3. T=q fratem sma & Age o demaEt
& foru fraf=m |

4 wham F wwgEl owEgE &
QUG |

T4 @ W g W owEm | ogd TR
TR

(a) aﬁ?-t"l,zaﬁ?.’»
(b) Fa7 3 iR 4
() 1,2, 33R4
() a2 AR 4
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Note : English version of the instructions is printed on the front cover of this Booklet.




